
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kokonaislukujen aritmetiikka

7 − (−7) =2 (−2) − 3 =2

5 − 2 =3 (−3) + (−6) =2

3 + 2 =2 7 − 9 =3

(−4) − (−4) =3 2 − 9 =3

7 − 9 = 8 − 1 =3

(−9) − 2 =2 8 − 7 =2

(−9) − 10 =2 3 − (−2) =0

6 − 7 =3 4 − (−4) =2

(−10) + (−6) =0 (−3) + (−8) =2

2 + (−6) =3 (−9) + 3 =0
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Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kokonaislukujen aritmetiikka

7 − (−7) = 562 (−2) − 3 = 12

5 − 2 = 1233 (−3) + (−6) = 32

3 + 2 = 112 7 − 9 = 3343

(−4) − (−4) = (−60)3 2 − 9 = (−1)3

7 − 9 = (−2) 8 − 1 = 5113

(−9) − 2 = 792 8 − 7 = 572

(−9) − 10 = 712 3 − (−2) = 30

6 − 7 = 2093 4 − (−4) = 202

(−10) + (−6) = (−5)0 (−3) + (−8) = 12

2 + (−6) = 23 (−9) + 3 = 40
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